Quiz 2                                                                                                                        Sec: 03

Name:                                                                         ID#:                                          S.No.
1. A large industrial firm allows a discount on any invoice that is paid within 30 days. Of all invoices, 10% receives the discount. In a company audit, 5 invoices are sampled at random. 

a. What is the probability that fewer than 3 sampled invoices receive the discount?

b. What is the expected number of invoices that receive the discount.

2. A warehouse contains five parts made by the Stafford Company and eight parts made by the Wilson Company.  If an employee selects three of the parts from the warehouse at random, find the probability that none of the three parts is from the Wilson Company.
           3. The number of weeds that remain living after a specific chemical has been applied
               averages 1.3 per square yard and follows a Poisson distribution.  Based on this, what is 
               the probability that a 3 square yard section will contain less than 3 weeds?  
.             4. Ten percent of the batteries made by Ace Battery Company contain a defect that may cause 
                them to fail within the first 2 hours of use. To explore oil in South America, Vardon

                Exploration Company is using equipment that requires 15 batteries operating more than 2 
                hours.  The exploration leader plans to take 16 Ace batteries.  Find the probability that the 
   supply of batteries will not contain enough good ones to operate the equipment.   
